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A knot diagranﬂ €1 C2 € €7 Cg C5 Ci1 €3 Cio ’

Ideals for irreducible component#ﬂ)f Xpar

I = W? +u 4+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 52 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u?4+u +.--+2u—1)

(i) Arc colorings
a9 =

a7 =

ag = (
—u3
e
<u11+u9+2u7+u5—|—u3+u
<—u21—4u19+~--—2u3—u>
—u? —3u + . —2ud +u

—ud —ub —ut 41
ud + 2u8 + 2ut + 2u?

u?0 4+ 3u!® + Tul® + 100 + 100 + Tul? + uf — 208 —3ut —u? 41
—u20 — 4418 — 10u® — 18ul* — 23u!2 — 24410 — 18u® — 10u® — 3u?

ubt +8ut - ud + 20
Sl U0 4 B

uSl + 8ut? + - 4 ud 4+ 2u
ato =\ —u —9u49 4 ... 43t u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u5" + 4u®® + ... +4u? + 14

w? +2u” +3ub +2u +u >

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq w4 4 2u—1
Co,C7 W1 o —6u+ 1
c3, Cs w2+ 3+ -+ 3Tu+ 16
C4,Cy, C10 WP 4301
cs u? Pt - — 28u — 40
¢ uP? —5uPl 4 -+ 96u — 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce v 1Ty e 6y + 1
ca, C7 Y2+ 37y - — Ay + 1
c3, s y°% 4+ 335 + .- — 2425y + 256
647097010 y52—431/51+—6y+1
¢ 52 51
8 Yoo — Ty + -+ — 38704y + 1600
c11 y°? + 5y°1 + - -+ + 5856y + 256




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

—0.768826 4+ 0.6717731

2.57641 4+ 0.117741

9.48504 + 0.889771

—0.768826 — 0.6717731

2.57641 — 0.117741

9.48504 — 0.889771

0.797976 + 0.6768021

—0.37697 — 4.156551

6.46155 + 2.978481

0.797976 — 0.6768021

—0.37697 + 4.156551

6.46155 — 2.978481

—0.189335 + 0.9343901

3.08561 — 2.462561

8.42989 +- 4.484271

—0.189335 — 0.9343907

3.08561 + 2.462561

8.42989 — 4.484271

= —0.749484 + 0.7349441

3.28879 + 0.588651

11.43703 — 2.085671

—0.749484 — 0.7349441

3.28879 — 0.588651

11.43703 4 2.085671

0.085244 + 1.0476401

—3.32915 — 0.060691

1.99003 — 0.276211

0.085244 — 1.0476401

—3.32915 + 0.060691

1.99003 + 0.276211

—0.113059 + 1.0526101

—6.59928 — 4.058161

—1.05392 + 4.398861

—0.113059 — 1.0526101

—6.59928 + 4.058161

—1.05392 — 4.398861

0.063300 + 0.9387211

—2.09979 + 1.291281

2.50126 — 5.468371

0.063300 — 0.9387211

—2.09979 — 1.291281

2.50126 + 5.468371

—0.812741 + 0.6820851

4.28204 + 8.220131

11.15083 — 4.691201

—0.812741 — 0.6820851

4.28204 — 8.220131

11.15083 - 4.691201

0.132755 + 1.0566201

—2.13743 4 8.177511

3.80777 — 6.732131

0.132755 — 1.0566201

—2.13743 — 8.177511

3.80777 + 6.732131

0.506635 + 0.9443241

—0.02731 — 2.148851

5.90152 + 0.323881

0.506635 — 0.9443241

—0.02731 + 2.148851

5.90152 — 0.323881

0.731364 + 0.8047421

1.86476 + 2.421341

7.78972 — 4.581271

0.731364 — 0.8047421

1.86476 — 2.421341

7.78972 + 4.581271

0.797362 + 0.7431751

9.36019 — 1.415071

15.5003 + 0.71401

0.797362 — 0.7431751

9.36019 + 1.415071

15.5003 — 0.71401

—0.542555 + 0.9541901

—4.16270 — 1.903811

1.38256 + 2.608101

—0.542555 — 0.9541901

—4.16270 + 1.903811

1.38256 — 2.608101

—0.772975 + 0.8161321

6.58267 — 5.635501

13.2814 + 5.38501

—0.772975 — 0.8161321

6.58267 + 5.635501

13.2814 — 5.38501

0.573285 4 0.9682511

—0.49912 + 5.982761

5.45137 — 6.271011

eI ||| ||| (g|e|g g2 |e2|g|g|g|”f|g|g|g|g|g|g|g |

0.573285 — 0.9682511

—0.49912 — 5.982761

5.45137 4+ 6.271011




Solutions to I} v—1(vol ++/—1C5) Cusp shape
u= 0.697455 + 0.9242251 1.49374 + 3.035801 6.84419 4+ 0.1
u= 0.697455 — 0.924225] 1.49374 — 3.035801 6.84419 4 0.1

u = —0.741062 + 0.9183187

6.26590 — 0.081521

12.71506 + 0.1

u = —0.741062 — 0.9183187

6.26590 + 0.081521

12.71506 4- 0.1

u = —0.704555 + 0.9704511

2.57341 — 6.127021

9.43955 + 7.726231

u = —0.704555 — 0.9704511

2.57341 4 6.127021

9.43955 — 7.726231

uw= 0.733151 4 0.9793681

8.63821 + 7.179621

13.94643 4+ 0.1

u= 0.733151 — 0.9793681

8.63821 — 7.179621

13.94643 4 0.1

u = —0.699306 + 1.0063001 1.57520 — 5.691421 0
u = —0.699306 — 1.0063001 1.57520 + 5.691421 0
u= 0.711550 + 1.0132501 —1.39365 + 9.848291 0
uw= 0.711550 — 1.0132507 —1.39365 — 9.848291 0
u = —0.719515 + 1.0161101 3.2680 — 13.97921 0
u = —0.719515 — 1.0161101 3.2680 + 13.97921 0

u=0.548113 4 0.3438531

0.91864 — 1.702581

9.13001 + 0.331211

u= 0.548113 — 0.343853]

0.91864 + 1.702581

9.13001 — 0.331211

u= 0.612012 4 0.2048281

1.88978 4 5.961321

11.11302 — 5.649951

u= 0.612012 — 0.2048281

1.88978 — 5.961321

11.11302 + 5.649951

u = —0.575732 4 0.2492151

—2.51014 — 2.075721

5.84325 4 3.664251

u = —0.575732 — 0.2492151

—2.51014 + 2.075721

5.84325 — 3.664251

u = —0.564176

5.97021

16.1930

u=0.362065

0.641117

15.5690




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Ce w4t 4+ 2u—1
C2,C7 P 17U - — 6u+ 1
c3,Cs ub? +3ut - £ 37u + 16
C4,C9, C10 u? — Pt 30— 1
8 ub? w4 — 28u — 40
11 u? — 5u’t -+ 96u — 16




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, Cé yo2 4+ 17y - — 6y + 1
Ca, C7 P2 437y 4 — By + 1
€3,Cs y°? 4+ 33y° + ... — 2425y + 256
€4, Co, C10 Y2 =43y 4 — 6y 41
cs y*? — Ty’ 4 -+ — 38704y + 1600
11 y°? 4 5y%t .-+ 5856y + 256




